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B.A. DEGREE EXAMINATION, NOVEMBER 2019 

Sixth Semester 

Economics 

Elective — LABOUR ECONOMICS 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Labour Economics. 

 EøÇ¨¦ ö£õ¸Íõuõµ® Áøµ¯Ö. 

2. Write the meaning of Labour Turnover. 

 EøÇ¨£õÍº ¦µÒÄ Gß£uß ö£õ¸Ò GÊxP. 

3. What is bonus? 

 ÷£õÚì GßÓõÀ GßÚ? 

4. Write about strike. 

 ÷Áø»{Özu® £ØÔ GÊxP. 

5. What is living wage? 

 ÁõÌUøP©mhU T¼ GßÓõÀ GßÚ? 

6. Define: Wage differential. 

 Áøµ¯Ö :  T¼ ÷ÁØÖø©.  
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7. Mention any two Occupational hazards. 

 H÷uÝ® Cµsk öuõÈØ\õº B£zxUPøÍU SÔ¨¤kP. 

8. Expansion: VRS. 

 Â›ÁõUP® : VRS. 

9. State the meaning of Trade Union. 

 öuõÈØ\[P® Gß£uß ö£õ¸Ò TÖP. 

10. State about the employee benefits. 

 öuõÈ»õÍºPÒ Buõ¯® £ØÔU TÖP. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) List out the various characteristics of labour. 

  EøÇ¨¤ß £À÷ÁÖ Snõv\¯[PøÍ £mi¯¼kP. 

Or 

 (b)  List out the difficulties in measuring the labour 

turnover in an Industry. 

  öuõÈØ{ÖÁÚ[PÎÀ öuõÈ»õÍº ¦µÒøÁ 

AÍÂkÁv¾ÒÍ ]µ©[PøÍ £mi¯¼kP. 

12. (a) Write the causes for industrial disputes. 

öuõÈØ {ÖÁÚ uPµõÖPÐUPõÚ Põµn[PøÍ GÊxP. 

Or 

 (b) Point out the effects of industrial disputes. 

  öuõÈØ {ÖÁÚ uPµõÖPÎß ÂøÍÄPøÍ 

Á›ø\¨£kzxP.  
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13. (a) Differentiate real wages and nominal wages. 

  Esø©U T¼ ©ØÖ® ö£¯µÍÄU T¼ CøÁPøÍ 

÷ÁÖ£kzxP. 

Or 

 (b)  Explain the various methods of wage payment. 

  T¼a ö\¾zxu¼ß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

14. (a) Write the working conditions of Indian Industry. 

C¢v¯ öuõÈØ {ÖÁÚ[PÎÀ ÷Áø»ö\´²® `ÇÀ 

£ØÔ GÊxP. 

Or 

 (b)  Which social security schemes are follows for labour 

in India? 

  C¢v¯ öuõÈ»õÍºPÐUPõÚ \‰P £õxPõ¨¦z 

vmh[PÒ ¯õøÁ? 

15. (a) State the affecting ictors of growth of Trade union. 

  öuõÈØ\[P[PÎß ÁÍºa]°øÚ £õvUS® 
PõµoPøÍU TÖ.   

Or 

 (b)  Which factors are affecting the priority of Collective   

   Bargaining? 

  Tmk¨ ÷£µzvøÚ £õvUS® PõµoPÒ ¯õøÁ?  
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Critically examine the causes for and effects of Migration. 

 Ch¨ö£¯ºu¾UPõÚ Põµn[PÒ ©ØÖ® Auß ÂøÍÄPøÍz 
vÓÚõ´P. 

17. Describe the methods for settlement of industrial 

Disputes. 

öuõÈØuPµõÖPøÍz wº¨£uØPõÚ £À÷ÁÖ •øÓPøÍ 
ÂÁ›UP. 

18. Discuss the affecting factors of Real wages of the workers 

depend. 

öuõÈ»õÍºPÒ \õº¢xÒÍ Esø©U T¼ø¯¨ £õvUS® 
PõµoPøÍ ÂÁõv. 

19. Evaluate the Social Security measures in India. 

C¢v¯ \‰P £õxPõ¨¦ AÍÃkPøÍ ©v¨¥k ö\´P. 

20. What is ILO? Discuss its aim and functions. 

 ILO GßÓõÀ GßÚ? Auß ÷|õUP® ©ØÖ® £oPøÍ ÂÁõv. 
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